Pour Tissem

La multiplication posée.
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Table de 6
6x 1=6
6x 2=12
6x 3=18
6x 4=24
6x 5=30
6x 6=236
6Gx 7T=42
6x 8=48
6x 9=54
6 x10 =60
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Table de 7
Ix1=7T
Tx2=14
fTx3=21
Tx 4=28
Tx 5=35
Tx 6=42
Tx 7=49
Tx 8=56
Tx 9=63
7x10=70

Table d
3x
3 x
3 x
3 X
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3x 9=27
3 x10=30
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Table de 8
8x 1=8
8x 2=16
8x 3=24
8x 4=32
Bx 5=40
8x 6=48
Bx 7=56
8x B=64
8x 9=72
8x10 =80

Table
4x 1
4dx 2
4x 3
4x 4
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4 x
4 x
4x 7=28
dx 8=32
4x 9=236
4 x10 = 40

Table de 9
9x 1=9
9x 2=18
9x 3=27
9x 4=36
9x 5=45
9x 6=54
9x 7=63
Ax 8=72
9x 9=81
9 x10 =90

Table de 5
i
Sx 2
5x 3
5x 4
BX 5
5x 6=30
5x 7=35
5x 8=40
ox 9=45
5x10 =50

Table de 10
10x 1=10
10x 2=20
10x 3=30
10x 4 =40
10x 5=50
10x 6 =60
10x 7=70
10 x 8 = 80™
10x 9=890
10 x10 = 100




Lecon 2 : Multiplier par 10, 100, 1000

https://www.youtube.com/watch?v=ZTNO3UcvMho

Pour multiplier par 10 , 100 ou 1 000 rapidement , il y a
une technique :

5 X 10=50 jajouteunOaud

62 X10 =620 jajoute un O au 62

4 x100 = 400 jajoute 00 au 4

3x1000= 3000 jajoute 000 au3

5 x 10 = 50
5 x 100 = 500
5 x 1000 = 5000



